Economics 302

Spring 2005

Answers to Practice Questions 6 for Chapter 6

Multiple Choice Questions:

1. e.
2. e.

3. e.

4. c.

5. c.

6. d.

7. b.

8. a.

9. d.

Problems

1. a.  L = 5000 + 500 = 550

U/L = 500/5500 = 9%


b.  (.25)(500) = 125 people


c.  (.05)(5000) = 250 people


d.  U/L = 625/5500 = 11.36%

	
	Unemployed U
	Employed E

	Initial Situation
	500
	5000

	Change due to job finding
	-125
	+125

	Sub-Total
	375
	5125

	Change due to job separation
	+250
	-250

	Total
	625
	4875


 
e.  
	
	Unemployed U
	Employed E

	Initial Situation (beginning of second month)
	625
	4875

	Change due to job finding
	-156.25
	+156.25

	Sub-Total
	468.75
	5031.25

	Change due to job separation
	+243.75
	-243.75

	Total
	712.50
	4787.50


f. fU = sE where f is the rate of job finding and s is the rate of job separation

fU = s(L – U)

fU = sL – sU

(f + s) U = sL

U/L = s/(f + s) = 16.67%

g. i.  U/L = 916.67/5500 = 16.67%

ii. It stays constant at 16.67%

	
	Unemployed U
	Employed E

	Initial Situation
	916.67
	4583.33

	Change due to job finding
	-229.17
	+229.17

	Sub-Total
	687.50
	4812.50

	Change due to job separation
	+229.17
	-229.17

	Total
	916.67
	4583.33


2. a.  U/L = 1000/10000 = 10%

U/L = s/(f + s) = steady-state condition

U/L = .011/(.10 + .011) = 0.099 = approximately .10 or 10%

Yes, this economy is at the steady-state level of unemployment

b. One would anticipate that the rate of job finding would increase since the unemployed will receive less support from government programs and therefore face greater financial pressures to locate new employment.

c. U/L after one month = 979/10000 = 9.79%
	
	Unemployed U
	Employed E

	Initial Situation
	1000
	9000

	Change due to job finding
	-120
	+120

	Sub-Total
	880
	9120

	Change due to job separation
	+99
	-99

	Total
	979
	9219


d. U/L after the second month = 962.93/10000 = 9.63%

	
	Unemployed U
	Employed E

	Initial Situation
	979
	9219

	Change due to job finding
	-117.48
	+117.48

	Sub-Total
	861.52
	9336.48

	Change due to job separation
	+101.41
	-101.41

	Total
	962.93
	9235.07


e. U/L = s/(f + s) = .011/.131 = 8.4%

f. (.0084)(10,000) = 840 unemployed people

	
	Unemployed U
	Employed E

	Initial Situation (month n )
	840
	9160

	Change due to job finding
	-100.8
	+100.8

	Sub-Total
	739.2
	9260.8

	Change due to job separation
	+100.8
	-100.8

	Total (month n + 1)
	840
	9160


